QR —F AV 625 (H) 17/1 (X) 1/2 (H) 1/8 (x)
(3 0 5H—PK) 225 8HE 1=H4HE 1254EHE 125 68E&
(&G - #£G) (FBAIZG) | GEK#KAEG) (GBK#BEG)
FHa 7/9(8)
(FBAIZG)
MR
BG
9:30
R HE
a
9:30
ARt G
. 10:45 9:30
=3
/ﬁ7k/\ ﬁﬂ;iG
KB 9:30
b —
10:45
=R MEG
10:45
=R TN .
3R R
12:00 13:15
o
W ElE e
=M 12:00 ; |
13:15
—L
F—ILKH "G
13:15
Bl 12:00
==
/ﬁ7k/\ ﬂﬂ}iG
F— L 12:00 o
c 10:45 |54
12:00 %
EEdTAEZPpE G
PN 1315
e
ag 9:30 (74
f&
10:45(e
b&
cB&
13:15|f

df




QRIHETN FHE&ZE

6H258 56 ®’E : BEE B TE BlIE HES 45

@ 9:30 | EE¥E VS RE BEGS AR At 53 &8

® 10:45 AR 8t VS ] HEGs | BEFE . KH &8

12:00 | #=iE VS M #BEKRs A—LEB] B 3]

13:15 [#—LEH W gl HEHE EER &M ®&

6H258 MG ®E : =101 =H IFE HES HES 4E

0 9:30 BRI VS PN Ek X hB-KRLE #®8

®) 10:45 RE g hE - RE| EKHE B PN ®a

©) 12:00 | &K/ g F—LItH EkiBs | BEAME | BAWE ]

@ 13:15 | #$REM* E BAME | Akips BN PF—LdeEp &E

7RA18 F5 &E : TE BlIE HES 4T
D 4 iRBa 9:30 VS HEHS @ ) &E
Q% 4 iR B 10:45 g HEHS © ® &E
OEXLF TN 12:00 g HEHS @ @ ®a
@ 2 R Bd 13:15 ; HEAHE ® ® &8
7RA28 BK#BE &E: TE Bl Bl 48
DEER R 9:30 VS EKGE &8 &8 &8
Q@ 1ge 10:45 ; ®e @ @ ®&E
QR 12:00 ; EKE ®E &8 ®A
DEIE f 13:15 ; ®&E 6) 6) ®A
7RA8H BK#BE KA EX EES HES 4F
D73k 9:30 VS ®E &8 &8 &8
@53k 10:45 ; ®e &8 &8 &8
@3k 12:00 ; ®e &8 &8 &8
OFS: 13:00 ; &8 &8 &8 &8




